Name: ‘l( } bb/ Class: Date: ID: A

OGeometry (Q8A (8.1-8.3)

. L f the measures of the interior angles of a copvex quadrilateral is : &
a. 180°
b 2170° CL("'Z) l%ro @ 9

d. 540°

2. The measure of each interior angle of a regular hexagon is

G2\ =0 . 120°
(o

3. The measure of each exterior angle of a regular octagon is

?BLQC) - 9
¢ < 4o

edaca

a. 225°
b. 67.5°
d. 135°

L 4



Name: ID: A

@O+ bT +42+ Y473+ vt bd = 3po
758'!'2}(:.3(,5
=5l

D N (re23p ‘

5. Find the measure of each exterior angle of a regular polygon with 16 sides.

- a. 11.25°
— b. 360° 360 .
L
d 157.5°

6. Find the measure of one of the exterior angles of a regular polygon with nine sides.

a.  140°
v 36D .

c. 160° -
d. 20° q

(BN



Name: iD: A

O 7. Find the measure of the missing angle.

&7 &6° Q-}-ZD =300
7+ G+ x+|13= 3Lo
13 ? {=110
8. Findxand y. B U-2)0= 300
126° - |,..{ Llot X+ 120+ (5= 3

. 114°/»° 65° -

/

9. Find the sum of the measures of the interior angles in the figure.

& -2) 1 =@



Name:

O 10. A regular pentagon has five congruent interior angles. What is the measure of each angle?

Ee dan

5

1. What is the measure of each interior angle in a regular octagon?

G- . ((35)

3

12. Find the measure of an interior angle and an exterior angle of a regular polygon with 20 sides.
o
20 uclemer et o

13. What is the measure of gach exterior angle in a regular pentagon?

30 - o
—"-"% 12

14.  For parallelogram PQLM below, if m£PML = 83°, then mZPQL =

P Q

3 123 .

M

Q.  mZLPOM

c. 97
d. msZ0OLM



Name:

O I15. Consecutive angles in a parallelogram are always
a.  congruent angles

b. complementary angles
C, (c. supplementary angles )

d. vertical angles

[6. Find the value of the variables in the parallelogram.

K=2}° |0q+2,l*‘5=\°ﬂ)
2=lou°

17. Complete the statement for parallelogram ABCD. Then state a definition or theorem as the reason.
AD=

2 & Jhromens .32

; Te  opposck sules 9]
S—~prromTt
4 B O PDMQ_MW

ID: A
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Name:

18. Find AM in the parallelogram if PN = 10 and MO = 19,
> = 4.5

M

q.5

19. Use the figure below.

& = N\

J 34 H

Given: FGHJ is a parallelogram, m£JHG = 68°, JH =34, GH = |9
a. Find m£FIH.  ||2°

;{ b. Find JF. \Q

c. FindmsGFI.  (9%°

W d. Find FG. 54

ID: A
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Name:

20.

21.

22,

ID: A

(next 2 problems) Use the diagram to find the values of x and y. Then find the given length.

il g e I
‘x\ s

NS
‘\\;/ ZK i)( g’ 25-6‘ :(_ﬁ_z
Z_'."
7 \ . W=7
Y
&

A

\
AC D @
Bp R l'i

(2, 3) and (3, 1) are opposite vertices in a parallelogram. If (0, 0) is the third vertex, then the fourth veriex is

g ] oo Cred




Name: ID: A

(\) 23. Given the following, determine whether quadrilateral XYZW must be a parallelogram. Justify your answer,
XY =WZand XW = YZ.

W | 7 me{-—':%bﬁ SLoLQ_S(%

24. Draw a figure in the coordinate plane.
Given: Quadrilateral ABCD with A(=5, 0), B(4, -3), C(8, -1), D(-1, 2)
Show that ABCD is a parrailelogram.




Name: ID: A

( _‘) 25. Show that ABCD below is a parallelogram.

Y/
i .B(_z; 4), ,

- ;.‘

-r‘(”li' '5)";'

26. (EXTRA CREDIT) Find the number of sides of a convex polygon if the measures of its interior angles have a
sum of 2880°.

(h- 211 = 7830



{ DGeometry Q8A (8.1-8.3)
Answer Section

"I Rw i e =]

114°

x=103,y=66

540°

108°

135°

interior angle: 162 degrees; exterior angle: 18 degrees
. 720

B

C

x=21°% y=55° ;= 104°

. BC,the opposite sides of a parallelogram are congruent
. 95

a 112°

b. 19

c. 68°
d. 34

10

8

D

Yes. If both pairs of opposite sides of a quadrilateral are congruent, then the quadrilateral
is a parallelogram.
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23.

26,

&

I. Quadrilateral ABCD with A -5, 0),
B(4, -3), (8, -1}, D(-1, 2)

l. Given

R, AL ) oy | 2. Definition of slope

4-(=5) " 9

slnpeofﬁ =% =

2=l
-1-8 -9
0-2 -2

-5-(-) 4

2. slope of AB =

slope of CD =

shpenfﬁ:

- 1
A

3.AB | DC, AD || BC 3. Lines with = slopes are ||.
4. ABCD is a parallelogram. 4. Definition of a parallelogram

Since AB = CD =3~/ 10 and BC = AD = 8, ABCD is a parallelogram.
18

-2



Name: _K.M\/ Class: Date: ID: B

0]
) Geometry Q8A (8.1-8.3)

. The sum of the measures of the interior angles of a convex quadrilateral is

i -

b. 540°
c. 270°
d. 180°

2. The measure of each interior angle of a regular hexagon is

A

b. 30°
c. 15°
d. 60°

3. The measure of each exterior angle of a regular octagon is

\

b. 22.5°
67.5°
d. 135°

o



Name: ID: B

m Find the value of x. (The figure may not be drawn to scale.)

360
P + 1) ¥38+ X3+ K+ of = B

U8 = 3,p
X= 5|

c. 49
d. 108

5. Find the measure of each exterior angle of a regular polygon with 36 sides.

. a. 170°
- b. 360° 3D - D
30

6. Find the measure of one of the exterior angles of a regular polygon with twelve sides.

4. 15°

® 560 .
c. 150° w19
d. 165°

Tl
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Name:

7. Find the measure of the missing angle.

66° 78° > T

¥

1)

loz”

1i4° ?

8. Find.vand y.

126°

1148/ »° 65°

9. Find the sum of the measures of the interior angles in the figure,

(5-2)1%0 =




Name:

/_\f' 10. A regular pentagon has five congruent interior angles. What is the measure of each angle?

HO

L. QoD
1. What is the measure of each interior angle in a regular octagon?

(S| -
D G

12. Find the measure of an interior angle and an exterior angle of a regular polygon with 45 sides.
T WD
<

I3. What is the measure of each exterior angle in a regular pentagon?

2 540 _ o
= 2

14, For parallelogram PQLM below, if m£PML = 83°, then m£POL = .

r Q

A L

M

0. mZLZPOM

c. mLOLM
d. 97°




Name: ID: B

)

I5. Consecutive angles in a parallelogram are always
4. congruent angles
_b. supplementary angles™)
6 c. vertical angles
d. complementary angles

16. Find the value of the variables in the parallelogram.

1 -rtﬁi-"lz 1%

g2

17. Complete the statement for parallelogram ABCD. Then state & definition or theorem as the reason.
AO=

0 0C Yoo %G
“601%‘/\9\.0(14 a Pcvualﬂofog@”

! ’ VYeero ofs Aagonals




Name: ID: B

q I18. Find AM in the parallelogram if PN =9 and AO =9.

M N

19. Use the figure below.

F G

= AN =

J 34 H I‘Z'

Given: FGH/ is a parallelogram, m£JHG = 68°, JH =34, GH = 19
a. Find mZFJH. "z *

b. Find JF. 19
c. Find msGFl. (% °

d.Find FG. 34



Name: ID: B

(next 2 problems) Use the diagram to find the values of x and y. Then find the given length,

7y 8
\ 2y =3x-2

/ *x
,-.i:

42> 2-9
e

200 AC = |D

22. (2, 3)and (3, 1) are opposite vertices in a parallelogram. If (0, 0) is the third vertex, then the fourth vertex is




@

Name: ID: B

23. Given the following, determine whether quadrilateral XYZW must be a parallelogram. Justify your answer.
XW=WZandXY=VYZ.

e
[ .

%
%

w | z

24. Draw a figure in the coordinate plane.
Given: Quadrilateral ABCD with A(=5, 0), B(4, 1), C(8, 3), D(-1, 2)

Show that ABCD is a parrallelogram.
%
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Name: ID: B

() 25. Show that ABCD below is a parallelogram.

Y
R ELORCr

Be it KD = M ISP
Be ThO B wheds

26. (EXTRA CREDIT) Find the number of sides of a convex polygon if the measures of its interior angles have a
sum of 2880°.

(n- 2P = 28D



ID: B

( )Geometry Q8A (8.1-8.3)
Answer Section

TR

102°

x=103,y=66

540°

108°

135°

interior angle: 172 degrees; exterior angle: 8 degrees
72°

A

B

x=27° y=4I1° z=112°

. OC, the diagonals of a parallelogram bisect each other
9

a. 112°

b. 19

c. 68°
d. 34

10

8

B

No. The information does not justify the conclusion that the quadrilateral is a parallelogram.
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I. Quadrilateral ABCD with A( -5, 0),
B(4, 1), (8, 3), D(-1, 2)

lshpenfi-ﬂ= 41‘;1]5} =%
5hpeufﬁ=i::$=%
ﬂlopeofﬁ=%'.i—3;=:—;
-

3.AB | DC, AD || BC
4. ABCD is a parallelogram.

l. Given

2. Definition of slope

3. Lines with =slopes are || .
4. Definition of a paralle logram

25. Since AB=CD=3/10 and BC=AD =8,ABCD is a paralielogram.

26. 18

ID: B



